1

s P aldoned

“
&

Tt

ei\"ﬂ; }{% /{*s

=X S \ — T
e mej wwwwww 3 g{{w; ROQF S{:»qs‘ﬁ H
&, | 7y kel T2
X f
SRR S %
"
W_Jx!'i,"‘;%. j i
| -
'R&Jg { NQ\”&
@G‘U‘f‘ i Resin

Roof Myw% I x3

THT 4 048y Xy

b
mmmmm o

1l "




CONTRACTOR: RICHARDSON ALUMINUM, LLC.
DESIGN CRITERIA:

WIND SPEED AND EXPOSURE HAVE

BEEN DETERMINED USING THE ADVANCED

TECHNOLOGY COUNCIL'S WEBSITE

Applicable Codes, Regulations, and Standards

1 The 2010 Florida Building Code. specifically Chapter 16 Structural Design,
Chapter 20 Alummum, and Chapter 23 Wood.

2. AA ASM 35 and Specifications for Alummum Structures, Part 1-A of the
Aluminum Design Manual prepared by The Aluminum Association, Inc.
Washington, D C, 2005 Edition

3 ASCE 7-10

Wind Loads
1 Building Occupancy Category, Paragraph 1604 5 and Table 1604 5
Risk Category 1.

2 Basic Wind Speed, Table 1609C, State of Florida Debris Region & Basic
Wind Speed, Paragraph 1609 3 1 and Table 1609 3 1 Equivalent Basic Wind
Speed VuLt = 110 MPH, VAsD = 85§ MPH

3 Exposure Category, Paragraph 16094 3 Exposure C

4 Buildmg Category for Aluminum Structures, Paragraph 2002 6

Building Category 1 - Screen Room / Patio Cover: Non-Habitable,

Unconditioned

Foundation Design
Existing concrete slab, No additional concrete footing or slab is required to

AND GOOGLE EARTH.

resist the loads imposed upon the existing slab by the proposed
construction if the existing slab is a minimum of 4” thick and in sound
condition, free from structural eracking, spalling, or other deterioration,

Roof Type

1 Roof Type MONOSLOPE

2 Roof Material 3" x 48” x 0.024” composite panel Elite 2000, 1.0 density
foam, Florida Product Approval Number FL 7561-R2.

Specifications

The following specifications are applicable to this project

1 All work shall be 1n accordance with the Florida Building Code, 2010
Edition, and any other applicable local codes and regulations

2. The minmmum wall thickness of alummum extrusions shall be m accordance
with the Florida Building Code, 2010 Edition and the 2005 Edition of the
Alyminum Association Manual, but not less than 0 040 inches

3 Aluminum extrusions shall be 6005 T5 Alloy Due to quality control 1ssues,
no manufacturer substitution is acceptable without the specific written,
signed and sealed authorization of Suncoast Architecture & Engineering,
LLC

4 Screen Material Design based on 18/14 or 20/20 Better View Any other
material must be approved.

5 Fasteners are required to be SAE Grade 5 or better zimc plated,

6 All Self Mating Beam Sections are to be stitched with either #14 screws 6”
from ends and 24” center to center or #12 screws 6" from ends and 12"
center to center

7 Where concrete specifications are required, whether i the screen enclosure
scope ot not, by one or more regulatory agency, the following specifications
are applicable

a. Concrete shall conform to ASTM C94 for the following components

1 Portland Cement Type 1,- ASTM C 150

n Aggregates - Large Aggregate 3/4” max - ASTM C 33

m  Air entramnmg +/- 1% - ASTM C 260

1v Water reducing agent - ASTM C 494

v Clean Potable water

vi.  Other admixtures not permitted

b Metal accessories shall conform to

1 Remforcing Bars - ASTM A615, grade 60

i1. Welded wire fabric - ASTM A185

c. Concrete slump at discharge chute not less than 3” or more than 5”
Water added after batching is not permitted.

d. Prepare and place concrete per American Concrete Institute Manual
of Standard Practice, Parts 1, 2, and 3 including hot weather
recommendations,

e Moist cute or polyethylene curing permitted.

f. Prior to placing concrete, treat the entire subsurface area for termites
n compliance with the FBC

g. Concrete shall be placed over a polyethylene vapor barrier

h All aluminum components embedded within concrete shall be coated
with a bituminous paint or epoxy.

8 The minimum nominal thickness of protector panels (kickplates) shall be an
mdustry standard of 0 024 inches,

9 All flashing and weatherproofing shall be provided by the contractor

M 8'_0" k.
] 1
e—
o
R
3X3X0.093

1"-0"
T[ o—6"

Y LA L N
&,”-' e
P NIPPPEIN
» 4‘(." ¢
oy [t“,‘ <(,
- & E"
. :f TR t
},J;’;i'\') O Qf—(-
= Sz ow
";-P\)\} .,
\(;S\ 't,..‘“ M <
rﬁ% ¥ pi)
‘7}'.‘—» t _e;V:Q
PROFESSIQNAL SEAL
o
il
L .
= u
g =
(s-2) (51 rE:
o __| O
&, &, —+|2 23
|5 28
It @ Et‘j
wlya Z3
| —|=s S 3§
nE; o8 ES
a 0 A ~la wnd
Z Z N |
ul = L = Ol "
5 5 oI5
am N D =18 —F
2z o w
xS Cl ¢
2X5SMB )'s 3X2X0.070 J1 2 g
EDGE BEAM . EDGE_BEAM | E O 2
=
| g B 3
—— L T - o3
/ / 36'—0" A 7 6 A g gg g
\_1._0,. \_1._0., 36" VINYL SIDING <=k, &
KICKPLATE = 2R, 3
() Q28 ¢
S ggrdi ¢
e > Z 83RFK =
5 =Rt EER-
" g » BHJEE o
[22] >
o Q)
g 5
)
x
- y
5 <C
[N
L
(30) g
B o (U]
-2/ Q 2
2 B
A———10'=0" . #— 5'~9" 5'-9" —# 3'-0" . < g
G Sk
- wog
o o oY
2 A%
o I-—Nil.l.
DRAWN BY
EB
DATE DRAWN
01/29/14
REVISION
A -
A -
SHEET NO
A-1

NOT TO BE REPRODUCED IN WHOLE OR IN PART WITHOUT THE WRITTEN PERMISSION OF SUNCOAST ARCHITECTURE & ENGINEERING, LLC ©COPYRIGHT




NOT TO BE REPRODUCED IN WHOLE OR IN PART WITHOUT THE WRITTEN PERMISSION OF SUNCOAST ARCHITECTURE & ENGINEERING, LLC ©COPYRIGHT

T
ALUMINUM MEMBERS DIMENSIONS 2t o 2L A
B (1) 3/8" DIA THRU BOLT w/ NYLOCK - ',.,;g)« AFEEETRGTA
HOLLOW SECTIONS JAM NUT - IN LIEU OF NYLOCK JAM Ny A ,
2x2 2x2°x0046° 1/8" x 2" x 2" EXTRUDED | | NUT JAM NUT w/ THREADLOCKER o \M, e
2x3 27x3"x0050” ANGLE 5052 H-32 ALLOY EA /' MAY BE USED ;‘z, Qw . {f/ .
X s SIDE\ O TIGHTEN TO CONTACT - DO NOT SO o) i
2x4 27x47x0050” OVERTIGHTEN P _SJ: SR 5
2x5 2"x5"x0050” e ORI | SN
- 4 E ¥ }IJ
OPEN BACK SECTIONS P - ] ) ) o Sma e
T3 17w 2w 00407 o ™oy ‘\ K 3 2
Tx2 17x2"x0040 e . W | Y w e n
1x3 17x37x0045” a, o T b | | PR .
T A | | X3 % 0,008 ERPIN
SNAP SECTIONS < s, « 4&? 3 % 3"x 0093 oy, .
2x28nap 2"x2”x0045” ¥ . " * A ! /l/_—POST ",sf" | AN 3
2% 3 Snap 2"x3”x0050” cLrasroomg | ¢ re 4 . * | | 4, DEE
2x 4 Snap 2" x4”x0045” i s Y L = ‘ig, E s
P SEE PLAN « AT | | PROFLISIGNAL SEAL
(2) 3/8" DIA. CONCRETE
SELF MATING (SMB)
e S T b4 .0 1007 SIDE VIEW SOREWANCHORS A o
2x58MB 2”x5”x0050”x 0 100" ' | | 8'x3 x /8" EXTRUDED by, .
2x6SMB 2" x6”x0 050" x 0 120" t—r— | | gOST BASE C‘)’X/T (82> 8 2 u
2x7SMB 2”x7"x0057”x0120” IA. THRU B o o
. N » (2) 3/8" DIA. CONCRETE
2x8SMB 2”x8x0 072" x 0 124 SCREW ANGHORS = ~
b » » UPRIGHT <
2x9SMB 2"x9"x0072”x0 12 (2 174" CONG EMBED) b 58
2x 10 SMB 2”x 10" x 0 092” x 0 398" N — §
LY ¢ < § o
MINIMUM FASTENER EDGE DISTANCE. 1/2" 1 x2' BASE PLATE L% J & 4 CZ) oy
. " < -4
MINIMUM FASTENER SPACING- 3/ —t <] ANCHORED TO CONC W/ 1/4* Fo* CHR A N . 3 7] = o]
T4 N SONG # "\_CONCRETE SCREW ANCHOR o « a ¥ 17, 23
CONCRETE SCREW ANCHOR: ENBEQMENT p (MIN 1 1/4" EMBED) Coav R W G
SIMPSON TITEN HD OR EQUIVALENT 214 Mincone 4 . 6" MAX EACH SIDE OF POST o 22
SHEET METAL SCREWS (SMS): enseamT . AND 24" O C. MAX e Mg
ITW / BUILDEX OR EQUIVALENT EI o wund
o &
$ % @3" x 3" POST TO CONCRETE CONNECTION DETAIL
SLAB / FOOTING
SEE PLAN - A_2 SCALE.NTS w
FRONT VIEW =S
-
mS" x 2" UPRIGHT TO CONCRETE DETAIL B %
Ll Q &
A-2 SCALE NTS i 0 3
ToE 3
-
(GRS 5 2
x = g
1"x 2" OB FASTENED TO CORNER <z E 8
POST W/ #12 x 1 1/2" SMS AT 6" FROM - w28 g
KICK PLATE NOTES: W TOP & BOTTOM RAILS. TYPICALLY @ o UERg p
1 0024 ALUM 24" 0OC. < Z mu_,_§ A
2. SCREWALL CORNERS oOm & a8 g
3. 100B 120 BWIND ZONES 1/8" x 2 x 2" EXTRUDED ANGLE 5052 oY i 23 d
USE #8 x 5/8" SMS 12" C/C CORNER POST H-32 ALLOY EA CORNER W/ (2) #14 x 2" > 2 E R E 2
4. 120 C - 140 B WIND ZONES SMS INTO POST & (1) 3/8" DIA. Swg EE 18
USE #8 x 5/8" SMS 8' C/C CONCRETE SCREW ANCHOR INTO A o3 8 5 g% g
5. 140C - 150 B WIND ZONES CONCRETE AokE =
USE #8 x 5/8" SMS 6 C/C WOOD: .
6. SCREWGIRT, BOTTOM #10 x 3 WOOD SCREWS, 6" THR(S)s’ggévtl ;I(Z)Ssshég_/
RAIL & BOTH SIDES \FROM GIRT & @ 12 OC. 1
7 MAXKICK PLATE HT = 36" A 2 1/4" MIN CONC
| | 9/4" DIA. x 3" CONCRETE PE . [ANCHOR EMBEDMENT w
| | SCREW ANCHOR, 8" . = - Z
OPTION 2 FROM GIRT & @ 24" O.C. SLAB/FOOTING . oo
| | 0.040' x 1 1/8' x2"x 118" (@) #10% 1 1/2' INTO SEE PLAN WA g v
OPTION 1 | I RECEIVING CHANNEL SCREW BOSS . . [Ve] 0]
2" x 2" x 1/8" ANGLE W/ é\{/@) :/28 X g/A é:?;(()a) . IEI g
4) #10 x 5/8" EACH SIDE
@ | | #10 x 3/4" INTO UPRIGHT SIDE VIEW o L%
| T—z"—-1 CORNER POSTW/ 1 x2'@ 2 5
——————— | (4) #14 x 3/4" SMS L BACKSIDE s
< INTO POST b =
A | 3/8* x LENGTH AS REQUIRED e % 59
2 OR o X & FOR 2 1/4" EMBED CONCRETE — o
L | gg"&,gﬁ élR)és HouLow l SCREW ANCHOR INTO OZndy
CHAIR RAIL MEMBER T I | CONGRETE & o5 £
| i 2X PATIO 1" x 2" BASE PLATE T ] o - L
EXTRUSION x2 ANCHORED TO CONC W/ 1/4" P Ha } N
| CONCRETE SCREW ANCHOR 1> i DRAWN BY
(MIN 1 1/4 EMBED) . EB
| | 6" MAX EACH SIDE OF POST %4 by,
AND 24" O C. MAX R DATE DRAWN
L_l\,_.l [ Wy .
P 01/29/14
4 z
& 8 4 REVISION
@mz TO HOST STRUCTURE DETAIL o wa. -
A-2 SCALE NTS O A
N FRONT VIEW A
C SHEET NO
PURLIN OR GIRT TO BEAM OR POST DETALL //CP-1\CORNER POST TO CONGRETE DETAL
@ : W SCALE NTS Q 2
a—




1/8' x 2" x 2' EXTRUDED
ANGLE 5052 H-32 ALLOY

. (4) #14 x 3/4 SMS
| """ INTODJ

& v
¥ * ﬁ % ?& Nl
@ 21/4“M?21C0Nc
SLAB/FOOTING <;’ & s ANCHOR ENBEDENT
SEE PLAN FE N @
2 4
N & « ¥ = L2 -
- % § T e & &
&,
SIDE VIEW
| |
(1) /8 DIA, CONCRETE |
SCREW ANCHORS (I— UPRIGHT
(2114 CONC. EMBED) | / PRE-HUNG
| / DOOR JAMB
£ % }
L ¢ & &
1" x 2" BASE PLATE » ©
ANCHORED TO CONC W/ 1/4 <Z ; R
CONCRETE SCREW ANGHOR _/f~ [* « “ <
(MIN 1 1/4' EMBED) . - *
6" MAX EACH SIDE OF POST | <] ; N
AND 24" O.C. MAX —~6' o - ¢
B ae

FRONT VIEW

@UPRIGHT TO CONCRETE @ PRE-HUNG

W DOOR LOCATION DETAIL
SCALE' NTS

(4 #2x4 SMS
W/ NEOPRENE
WASHERS PER

3' x 0.040' ALUM
RECEIVING CHANNEL
W/ #12 x 3/4" TOP AND
BOTTOM AS END CAP

2' x 3 x0.050" TOP RAIL - L
NO ANGLE REQUIRED
UNLESS SPLICED OR I ||
CORNER - ATTACH W/ (4) |
#10x4'LG 1l |I
2x_ UPRIGHT_/ I ||
SEE DWG. FOR Il |
UPRIGHT SIZE . -
P
TOP RAIL W/
(4) #10 x 4" SMS
INTO POST
2"x2 x3'LG 2'x2' x3 Lo_<E
X 1/8' ANGLE x 1/8' ANGLE
]
(4) M10x 3/4 (4) #10 x 314"
SMS INTO SMS INTO
SCREW BOSSES SCREW BOSSES

(2) INTO TOP RAIL

(2) INTO TOP RAIL.
(2) INTO POST

(2) INTO POST

CONNECTION AT CORNER

/S\Z X 3 TOP RAIL CONNECTION TO 2 X___ UPRIGHT
A_3 SCALE NTS

3" COMPOSITE
PANEL

N 1,

CONNECTION AT SPLICE

{'\
O
A
w“w N&T
oy
L
L ©
)
FLASHING - INSTALL - .C' N
UNDER EXISTING DRIP EDGE - =2
e
3"x 0.040" EXTRUDED w il s D
RECEIVER CHANNEL RO
¥ oL
#12 x 3/4" SMS @ 12" i

TOP AND BOTTOM
W/ NEOPRENE WASHER
@ TOP SCREWONLY

2t %
FroressioNAL sEa V>

s e ,,4“ i o
5\ Y
" .
2 }
2 1 50N
v ol <
Prd L
o 9]
H .
)
S
\"‘
"o;n":'l\:l/ ™
\‘» W5

3" COMPOSITE PANEL \_(2) 114 DIA.x 3"
LAG SCREWS

@ EACH OVERHANG

@COMPOSITE PANEL TO FASCIA DETAIL
A-3 SCALE. NTS

PROFESSIONAL ENGINEER

STEVEN MORAGA, P.E.
FLORIDA LICENSE: 64609

7/— EXISTING HOST WALL

2 x2 PB—\

\ e o

CONCRETE:

@ 174" x 3" QUICKSET
ANCHORS INTO WALL
12) 14" x 3" LAG SCREWS
INTO WALL

11/8"x21/8' x11/8' x2' x0.040"
ALUM RECEIVING CHANNEL

W/ (4) #14 x 3/4" SMS EACH
SIDE INTO BEAM

g
O
=]

T f:.%g\\\K N

SCALE:NTS

BEAM TO HOST STRUCTURE ATTACHMENT DETAIL

(4) #12 x 4" SMS W/
NEOPRENE FACED

WASHER EA. PANEL 3' x48' x 0.024"
COMPOSITE PANEL

2' x 3" TOP RAIL
w/ (4) #10x 4" SM8
INTO POST

2 x2"x3"LG
x 1/8' ANGLE

{4) #10 x 314"

SMS INTO
SCREW BOSSES
(2) INTO TOP RAIL
(2) INTO POST

2"x 5" SMB

11/8"x2"x 11/8" x 8" x 0.062"
ALUM RECEIVING CHANNEL.

W/ (8) #14 x 3/4 SMSINTO

EACH SIDE OF BEAM & (4)

#14 x 1 SMS INTO CORNER POST

@COMPOSITE ROOF TO POST CONNECTION
A"'3 SCALE. NTS

SUNCOAST ARCHITECTURE
& ENGINEERING, LLC
13630 58TH STREET NORTH SUITE 101

CLEARWATER FL. 33760
TEL: {727} 532-5000

FLORIDA LICENSES: AA26001769 & CA #28841

FAX: (727) 532-5008

PROJECT ADDRESS

673 SW TUSTENUGGEE AVE

EAL

Ew
08
¢
3o

T

N

DRAWN BY
EB

DATE DRAWN
01/29/14

REVISION

A -

A -

SHEET NO

A-3

NOT TO BE REPRODUCED IN WHOLE OR IN PART WITHOUT THE WRITTEN PERMISSION OF SUNCOAST ARCHITECTURE & ENGINEERING, LLC ©COPYRIGHT




